1. a(2a-b) - (b-2a) & JA5E3|5HA?

@® (a-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @)(a+1)(2a-0)
® a(2a-b)

a(2a—b) — (b—2a) = a(2a - b) + (2a - b)
=(2a-b)(a+1)




2. (x-2)(x-2y-3)-10% A5 EastH
(x=2y+m)(x=2y+n) &, mn ] 27

@-0 o3 ® 10 @ 2

B

x—2y =tz 54,
((t-3)-10=r-3r-10
=(-5)(r+2)
=(x—2y-5)(x-2y+2)
om=-5n=2

Somn = —10




3.

rot

(2x - 1)* = (x +2)* & ALESEHA (3x +a) (x + b) 7F Aok D
o m, a — b o] = F5HH?

® -1 @ 3 @0 @ 2 ©) I

B

2x—1=A, x+2 = BE X|3s}H
(2x-1)% - (x+2)?
=A%2-B>=(A+B)(A-B)
=(2x-1+x+2)(2x—1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=1+3=4




=% a’—a*—a+19 157 obd A2 B5F F 7fR1A] FLSHH?

@ a?+1 © a?-1 © a+1
® a-1 @ a+1

D14 @24 @3AH @44 6 @

B *
ad-a*-a+1=a*a-1)-
@ -Da-1)
=(a-1)*(a+1)
O2tA a3 —a? —a+19 159 A2 ©, ©, @°lEE I57}
ofd A2 F2 27o[ct.




5.




|

= % 2017 o] Al4te HESHA 517] 915t o] §EE w4l 54

sh2A el A7 (Fa, b, ¢, d & D)

ofd
o

@ (a-b)? @) (a+b)?
® (ax+b)(cx+d) @ (a+b)(a-b)
©® (x+a)(x-b)

2012 = (200 + 1)2 = 40000 + 400 + 1 = 40401




7.

x—y= V2 4o x2—2xy+y? +dx—4dy+4 | F2?

D 2+4V2 @ 3+4v2
@ 5+442 @6+4\/§

® 4+4V2

X2 =2xy+y*+4x—4y+4
=(x-y)2+4(x-y)+4
=(V2)2+4V2+4=6+4V2




8.

(x+y)(x+y-1) =20 & vr=A] st A7

@<x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-—4) @ (x-y-4)(x—y+5)

® (x-y=-5)(x-y+4)

B

x+y=A @1 514

(x+y)(x+y-1)-20=A(A-1)-20
=A2-A-20
=(A-5)(A+4)
=(x+y-5)(x+y+4)




S F 2 (x—1)2 = 8x(x—1) + 12 2] 2157} opd AL9

Oxt1 @r-1 Ox+2 @x-2 O -3

=(x+1)(x-2)(x+2)(x—3)




Ae W, $2 A7

Flo

bl
tlo

10. (a+b)(a+b+3)+2E AFES]

® (a-b+1)(a-b+2) @(a+b+1)(a+b+2)
® (a-b+1)(a+b+2) @ (a-b-1)(a—b-2)

® (a+b-1)(a+b-2)

B

a+b=A 2 gs}IH

(F4) =A(A+3)+2
=A% +3A+2
=(A+1)(A+2)
=(a+b+1)(a+b+2)




(x* + 5x + 6)(x? — 3x + 2) — 252 & HF=A| Il gF

@) (2 + x+12)(x - 4)(x +5)

X2 —x+12)(x+4)(x-5)

X +2x-12)(x+4)(x - 5)

®© ® 0 ©

(
(
(x* = x=12)(x+ 4)(x - 5)
(
(

X2 +2x-12)(x —4)(x + 5)

~&B

(x% +5x+6)(x2 — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2) - 252
((x+2)(x = DH(x + 3)(x - 2)} — 252
(x2+x—2) (x2—|—x—6)—252
+x =12 2SI,

(t—2) (t-6) — 252

=2 — 8+ 12 - 252

= 1> —8r—240

(t+12)(z — 20)

(x% + x + 12)(x? + x — 20)

= (2 +x+12)(x—4)(x+5)

s




12, x* - 10x* +9 9] d=7F ofd 227

D x-1 @ x+3 ® x2-1
@x+9 ® x*-10x2+9

(x> -1)(x2=9) = (x + 1)(x = 1)(x + 3)(x = 3)




abc+ab+ac+a+bc+b+c+1

@ (@a-1)(b-1)(c+1) @ (a+1)(b-1)(c-1)
@ a+1)b+1)(c+1) @ (a-1)(b+1)(c-1)
® (a-1)(b-1)(c-1)

B

abc+ab+ac+a+bc+b+c+1
=albc+b+c+1)+ (bc+b+c+1)
=(a+1)(bc+b+c+1)
=(a+1)(b+1)(c+1)




14. x=-1+ V24, x> -2x-15=0 9] 3t2?

D 10-4+2 @ -10+4V2 (@)—10—4«/5
@ 10+4V2 ® 10

B

¥ -2x-15 = (x=5)(x+ 3)
= (=14 V2-5)(-1+ V2 +3)
=(V2-6)(V2+2)
=2-4v2-12
=-10-4V2




® (a-2)(b-1)

@ abb-1)-2(b-1)
@av+2

@ b(a-2)-(a-2)

® ab-2b—-a—+2

~&B

AR B2 Qol: (a-2)(b-1)
@ab-1)-20b-1)=(a-2)(b-1)
® ab +2
®ba-2)-(a-2)=(a-2)(b-1)

®ab-2b-a+2=alb-1)-2(b-1)=(a-2)(b-1)




